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1.	 This paper consists of 100 multiple choice questions (M.C.Q.). All questions are  
	 compulsory and carry 01 mark each. There is not negative marking.

	 bl iz'u i=k esa 100 cgqfodYih; iz'u gSaA lHkh iz'u vfuok;Z gSa o izR;sd iz'u 01 vad dk gSA xyr mÙkj 

	 ds fy, vad ugha dkVs tk;saxsA

2.	 Each question has four alternative responses marked (A), (B), (C) and (D). You  
	 have to choose an appropriate answer option and mark it on the OMR sheet.

	 izR;sd iz'u ds pkj mÙkj fodYi (A), (B), (C) ,oa (D). fn, x, gSaA vkidks mi;qDr mÙkj fodYi dk 

	 pquko dj OMR izi=k ij vafdr djuk gSA
(Contd. on the last page/ vU; funsZ'k vfUre i`"B ij)
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1.	 Green house effect is due to the presence of:

	 (A)	 Ozone layer in atmosphere

	 (B)	 Moisture in atmosphere

	 (C)	 Increase in lead

	 (D) 	 CO2 atmosphere

	 xzhu gkml (gfjr izHkko) fdldh mifLFkfr ls gksrh gS%

	 (A)	 okrkoj.k dh vkstksu ijr ls

	 (B)	 okrkoj.k esa ueh ls

	 (C)	 lhlk dh o`f¼ ls

	 (D) 	 okrkoj.k dh dkcZu MkbZ vkWDlkbM ls

2.	 Tehri dam is constructed on the river:

	 (A)	 Alaknanda

	 (B)	 Gangotri

	 (C)	 Bhagirathi

	 (D) 	 mandakini

	 fVgjh ck¡/ unh ij cuk;k x;k gS%

	 (A)	 vyduUnk

	 (B)	 xaxks=kh

	 (C)	 HkkxhjFkh

	 (D) 	 eUnkfduh

3.	 Asian Lions are generally found in:

	 (A)	 Sunderban

	 (B)	 Rajaji National Park

	 (C)	 Gir National Park

	 (D) 	 Dudhwa national Park

	 ,f'k;u 'ksj lkekU;rk ik;s tkrs gSa%

	 (A)	 lqUnjou esa

	  (B)	 jktkth jk"Vªh; m|ku esa

	 (C)	 fxj jk"Vªh; m|ku esa

	 (D) 	 nq/ok jk"Vªh; m|ku esa

4.	 Noise is harmful to hearing at the level of:

	 (A)	 >70 dB

	 (B)	 <80 dB

	 (C)	 >80 dB

	 (D) 	 >60 dB
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	 èofu dk gkfudkjd Lrj gS%

	 (A)	 >70 dB

	 (B)	 <80 dB

	 (C)	 >80 dB

	 (D) 	 >60 dB

5.	 At present the world population is increasing at the rate of:

	 (A)	 2 %

	 (B)	 2.5 %

	 (C)	 2.25 %

	 (D) 	 3 %

	 orZeku esa fo'o tula[;k o`f¼ nj gS%

	 (A)	 2 %

	 (B)	 2.5 %

	 (C)	 2.25 %

	 (D) 	 3 %

6.	 'Bombay High' is associated with:

	 (A)	 Solar energy

	 (B)	 Petroleum

	 (C)	 Hydroelectricity

	 (D) 	 Water sports

	 ^ckEcs gkbZ* lEcfU/r gS%

	 (A)	 lkSjÅtkZ ls

	 (B)	 isVªksfy;e ls

	 (C)	 tyfo|qr ls

	 (D) 	 tyØhM+k ls

7.	 Silicosis is caused by:

	 (A)	 Rocky dust

	 (B)	 Sandy soil

	 (C)	 Coal dust

	 (D) 	 All of the above

	 flyhdksfll gksrh gS%

	 (A)	 pV~Vkuh /wy }kjk

	 (B)	 jsrhyh e`nk }kjk

	 (C)	 dks;ys dh /wy }kjk

	 (D) 	 mijksDr lHkh
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8.	 In an ecosystem energy flow is:

	 (A)	 Unidirectional

	 (B)	 Bidirectional

	 (C)	 Multidirectional

	 (D) 	 All the above

	 ikfjfLFkfrd rU=k esa ÅtkZ dk izokg gksrk gS%

	 (A)	 ,dfn'kh;

	 (B)	 f}fn'kh;

	 (C)	 cgqfn'kh;

	 (D) 	 mijksDr lHkh

9.	 From which tree kattha is obtained?

	 (A)	 Khair

	 (B)	 Kachnar

	 (C)	 Neem

	 (D) 	 Jatropa

	 fdl isM+ ls dRFkk izkIr gksrk gS\

	 (A)	 [kSj ls

	 (B)	 dpukj ls

	 (C)	 uhe ls 

	 (D) 	 tSVªksik ls

10.	 Carbon monoxide gas is chemically inert and.............

	 (A)	 Tasteless

	 (B)	 Colourless

	 (C)	 Odourless

	 (D) 	 All of the above

	 dkcZu eksuks vkWDlkbM jklk;fud :i ls fuf"Ø; vkSj----------- xSl gS%

	 (A)	 Loknghu

	 (B)	 jaxghu

	 (C)	 lqxU/ghu

	 (D) 	 mijksDr lHkh

11.	 The main threat to biodiversity in India is:

	 (A)	 Land slide

	 (B)	 Forest fire

	 (C)	 Pollution

	 (D) 	 Habital loss
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	 Hkkjr esa tSofofo/rk dks lcls cM+k [krjk gS%

	 (A)	 Hkwfe dVko ls

	 (B)	 ouksa dh vkx ls

	 (C)	 iznw"k.k ls

	 (D) 	 vkoklh; {k; ls

12.	 Industries generating hazardous waste are classified as:

	 (A)	 Brown

	 (B)	 Green

	 (C)	 Yellow

	 (D) 	 Red

	 [krjukd dwM+k&djdV mRiUu djus okys m|ksx oxhZd`r gSa tSls%

	 (A)	 Hkwjs Js.kh

	 (B)	 gjs Js.kh

	 (C)	 ihys Js.kh

	 (D) 	 yky Js.khA

13.	 In grass—›insects—›frog—›snake, the frog is:

	 (A)	 Secondary consumer

	 (B)	 Primary consumer

	 (C)	 Secondary producer

	 (D) 	 Both (A) and (C).

	 ?kkl—›dhV—›esa<d—›lk¡i esa] esa<d gS%

	 (A)	 f}rh; miHkksDrk

	 (B)	 izFke miHkksDrk

	 (C)	 f}rh; mRiknd

	 (D) 	 nksuksa (A) vkSj (C)

14.	 The study of population is called:

	 (A)	 Demography

	 (B)	 Biogeography

	 (C)	 Topography

	 (D) 	 Biography.

	 tula[;k vè;;u dgykrk gS%

	 (A)	 MSeksxzkiQh

	 (B)	 ck;ksft;ksxzkiQh

	 (C)	 VksiksxzkiQh

	 (D) 	 ck;ksxzkiQhA
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15.	 Largest sized bird is:

	 (A)	 Peacock

	 (B)	 Penguin

	 (C)	 Ostrich

	 (D) 	 Crane.

	 lcls cM+h fpfM+;k gS%

	 (A)	 eksj

	 (B)	 isafXou

	 (C)	 'kqrqjeqxZ

	 (D) 	 ØsuA

16.	 Fauna is a term for:

	 (A)	 Plants

	 (B)	 Viruses

	 (C)	 Animals

	 (D) 	 Microbes.

	 iQuk 'kCn gS%

	 (A)	 ikS/ksa ds fy,

	 (B)	 fo"kk.kqvksa ds fy,

	 (C)	 tUrqvksa ds fy,

	 (D) 	 lw{ethoksa ds fy,A

17.	 Biodiversity is conserved through:

	 (A)	 National Parks and Zoo

	 (B)	 Botanical Gardens

	 (C)	 Wildlife Sanctuary

	 (D) 	 All the above.

	 tSofofo/rk dk laj{k.k fd;k tkrk gS%

	 (A)	 jk"Vªh; m|ku ,oa fpfM+;k?kj esa

	 (B)	 okuLifrd m|ku esa

	 (C)	 oU;tho vH;kj.k esa

	 (D) 	 mijksDr lHkh esaA

18.	 Which one of the following has lowest biodiversity?

	 (A)	 Desert

	 (B)	 Ocean

	 (C)	 Lake

	 (D) 	 River.
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	 fuEu esa ls fdlesa lcls de tSo fofo/rk gS\

	 (A)	 jsfxLrku

	 (B)	 leqnz esa

	 (C)	 rkykc esa

	 (D) 	 unh esaA

19.	 The concept of ecological pyramid was developed by:

	 (A)	 Reiter

	 (B)	 Elton

	 (C)	 Odum

	 (D) 	 Darwin.

	 ikfjfLFkfrd fijkfeM dh ladYiuk fodflr dh Fkh%

	 (A)	 jk;Vj us

	 (B)	 ,YVu us

	 (C)	 vksMe us

	 (D) 	 MkfoZu usA

20.	 Ten percent energy transfer law in a food chain was proposed by:

	 (A)	 Lindemann

	 (B)	 Elton

	 (C)	 Tansely

	 (D) 	 Hertig.

	 [kk| Ja`[kyk esa nl izfr'kr ÅtkZ vUrj.k dk fu;e izfrikfnr fd;k Fkk%

	 (A)	 fy.MeSu us

	 (B)	 ,YVu us

	 (C)	 VSUlys us

	 (D) 	 gfVZt usA

21.	 Who wrote book 'On the Origin of Species'?

	 (A)	 Aristotle

	 (B)	 Charles Darwin

	 (C)	 Ernst Mayer

	 (D) 	 Watson and Crick.

	 iqLrd ^iztkfr;ksa dh mRifRr* fdlus fy[kh\

	 (A)	 vjLrw us

	 (B)	 pkYlZ MkfoZu us

	 (C)	 vuZLV es;j us

	 (D) 	 okVlu vkSj fØd usA
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22.	 The least porous soil is:

	 (A)	 Sandy loam

	 (B)	 Loamy soil

	 (C)	 Clayey soil

	 (D) 	 Clayey silt.

	 U;wure fNfnzy e`nk gS%

	 (A)	 jsrhyh nkseV

	 (B)	 nkseV e`nk

	 (C)	 fpduh e`nk

	 (D) 	 fpduh flYVA

23.	 Richest biodiversity occurs in:

	 (A)	 Argentina

	 (B)	 Mexico

	 (C)	 Brazil

	 (D) 	 South Africa.

	 lokZf/d tSfofo/rk ik;h tkrh gS%

	 (A)	 vtZfUVuk esa

	 (B)	 eSfDldks esa

	 (C)	 czkthy esa

	 (D) 	 nf{k.k vÚhdk esaA

24.	 Which of the following pyramid is always upright?

	 (A)	 Pyramid of biomass

	 (B)	 Pyramid of energy

	 (C)	 Pyramid of numbers

	 (D) 	 All of these.

	 fuEufyf[kr esa ls dkSu lk fijkfeM lnSo ÅèoZ gksrk gS\

	 (A)	 thoHkkj fijkfeM

	 (B)	 ÅtkZ dk fijkfeM

	 (C)	 thola[;k fijkfeM

	 (D) 	 mijksDr lHkhA

25.	 Which of the following producer?

	 (A)	 Fish

	 (B)	 Lion

	 (C)	 Grass

	 (D) 	 Insect.
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	 fuEufyf[kr esa dkSulk izkFkfed mRiknd gS\

	 (A)	 eNyh

	 (B)	 'ksj

	 (C)	 ?kkl

	 (D) 	 dhVA

26.	 First national Water Policy was adopted in the year:

	 (A)	 2000

	 (B)	 1999

	 (C)	 2001

	 (D) 	 1987.

	 izFke jk"Vªh; tyuhfr o"kZ esa izHkkoh gqbZ

	 (A)	 2000 esa

	 (B)	 1999 esa

	 (C)	 2001 esa

	 (D) 	 1987 esaA

27.	 India's population grew from 361 to 685 million in:

	 (A)	 1901-1951

	 (B)	 1951-1971

	 (C)	 1951-1981

	 (D) 	 1981-2000.

	 Hkkjr dh tula[;k o`f¼ 361 ls 685 fefy;u gqbZ%

	 (A)	 1901-1951 ds chp

	 (B)	 1951-1971 ds chp

	 (C)	 1951-1981 ds chp

	 (D) 	 1981-2000 ds chpA

28.	 Renewable source of energy is:

	 (A)	 Coal

	 (B)	 Petroleum

	 (C)	 Kerosene

	 (D) 	 Biomass.

	 ÅtkZ uO;dj.kh; L=kksr gS%

	 (A)	 dks;yk

	 (B)	 isVªksy

	 (C)	 feV~Vh dk rsy

	 (D) 	 thoHkkjA
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29.	 Interlinking of more than one food chains is called:

	 (A)	 Food groups

	 (B)	 Trophic level

	 (C)	 Food chains

	 (D) 	 Food web.

	 ,d ls vf/d [kk| J`a[kyk ds ijLij lEc¼ gksus dks dgrs gSa%

	 (A)	 [kk| lewg

	 (B)	 iks"k.k Lrj

	 (C)	 [kk| J`a[kyk

	 (D) 	 [kk| tkyA

30.	 Wildlife week falls in:

	 (A)	 October

	 (B)	 July

	 (C)	 September

	 (D) 	 March.

	 oU;tho lIrkg gksrk gS%

	 (A)	 vDVwcj esa 

	 (B)	 tqykbZ esa 

	 (C)	 flrEcj esa 

	 (D) 	 ekpZ esaA

31.	 The wind speed is measured by an instrument called:

	 (A)	 Psychrometer

	 (B)	 Speedometer

	 (C)	 Anemometer

	 (D) 	 None of the above.

	 ok;q dh rhozrk ekius dk midj.k dks dgrs gS%

	 (A)	 lkbØksehVj

	 (B)	 LihMksehVj

	 (C)	 ,uheksehVj

	 (D) 	 buesa ls dksbZ ughaA

32.	 The water (Prevention and Control of Pollution) Act was enacted in:

	 (A)	 1971

	 (B)	 1991

	 (C)	 1974

	 (D) 	 1982.
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	 ty (fuokj.k ,oa iznw"k.k fu;U=k.k) vf/fu;e ykxw gqvk%

	 (A)	 1971 esa

	 (B)	 1991 esa

	 (C)	 1974 esa

	 (D) 	 1982 esaA

33.	 The most famous Earth Summit is held in 1992, was organized at:

	 (A)	 Helsinki

	 (B)	 Kyoto

	 (C)	 Rio-de-Janerio

	 (D) 	 Johannesburg.

	 izfl¼ i`Foh lEesyu 1992 esa vk;ksftr fd;k x;k Fkk%

	 (A)	 gsyfladh esa

	 (B)	 D;ksVks esa

	 (C)	 fj;ks Mh tusfj;ks esa

	 (D) 	 tksgkUlcxZ esaA

34.	 The virus causing AIDS is:

	 (A)	 HMV

	 (B)	 ABC

	 (C)	 TLC

	 (D) 	 HIV.

	 ,M~l dkjd fo"kk.kq gS%

	 (A)	 ,p-,e-oh-

	 (B)	 ,-ch-lh-

	 (C)	 Vh-,y-lh-

	 (D) 	 ,p-vkbZ-oh-

35.	 The seed oil of which plant species is being projected for use as a substitute for diesel?

	 (A)	 Azadirachta indica

	 (B)	 Ricinus communis

	 (C)	 Jatropha curcus

	 (D) 	 Cocos nucifera.

	 fdl ikni ls izkIr cht&rsy dks Mhty ds fodYi ds :i esa izpkfjr fd;k tk jgk gS\

	 (A)	 ,tSMjSDVk bafMdk

	 (B)	 fjflul dkWE;wful

	 (C)	 tSVªksiQk djdl

	 (D) 	 dksdl U;wlhiQsjkA
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36.	 One of the living fossil is:

	 (A)	 Taxus baccata

	 (B)	 Ginkgo bioloba

	 (C)	 Abies pindrow

	 (D) 	 Juniperus species.

	 ,d thfor thok'e gS%

	 (A)	 VsDll cdkVk

	 (B)	 ftadks ckbyksck

	 (C)	 ,oht fiUMªks

	 (D) 	 twfuisjl iztkfrA

37.	 Tobacco opposition day is on:

	 (A)	 5 May

	 (B)	 6 July

	 (C)	 31 May

	 (D) 	 20 October.

	 rEckdw fojks/ fnol gS%

	 (A)	 5 ebZ dks

	 (B)	 6 tqykbZ dks

	 (C)	 31 ebZ dks

	 (D) 	 20 vDVwcj dksA

38.	 'Minamata disaster' in Japan was caused by pollution due to:

	 (A)	 Lead

	 (B)	 Mercury

	 (C)	 Cadmium

	 (D) 	 Zinc.

	 tkiku esa ^feukekrk vkink* fdlds iznw"k.k ds dkj.k gqbZ Fkh%

	 (A)	 lhlk ds

	 (B)	 ikjk ds

	 (C)	 dSMfe;e ds

	 (D) 	 ftad dsA

39.	 The earliest settlers on barren lands generally are:

	 (A)	 Diatoms

	 (B)	 Lichens

	 (C)	 mosses

	 (D) 	 Ferns.
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	 lkekU;rk% Ålj Hkwfe ij loZizFke clus okyh iztkfr gS%

	 (A)	 MkbVkel~

	 (B)	 ykbdsUl

	 (C)	 elsl

	 (D) 	 iQuZlA

40.	 In visible light, white light breaks into seven different colours:

	 (A)	 VBIGYOR

	 (B)	 VIGBYOR

	 (C)	 VIBGYRO

	 (D) 	 VIBGYOR.

	 n`f"Vxkspj izdk'k esa liQsn izdk'k lkr fofHkUu jaxksa esa fc[kjus dk Øe gS%

	 (A)	 VBIGYOR

	 (B)	 VIGBYOR

	 (C)	 VIBGYRO

	 (D) 	 VIBGYOR

41.	 In nitrogen cycle. Soil nitrates are transformed into free nitrogen by:

	 (A)	 Nitrifying bacteria

	 (B)	 Denitrifying bacteria

	 (C)	 Ammonifying bacteria

	 (D) 	 Both (A) and (C)

	 u=ktu pØ esa e`nk ukbVªsV dk Lora=k u=ktu esa ifjorZu gksrk gS%

	 (A)	 ukbfVªiQkbax cSfDVfj;k

	 (B)	 Mh&ukbfVªiQkbax cSfDVfj;k

	 (C)	 veksfuiQkbax cSfDVfj;k

	 (D) 	 (A) vkSj (C) nksuksaA

42.	 The book 'principles of Population' was written by:

	 (A)	 John Cook

	 (B)	 Robert Hook

	 (C)	 Charles Darwin

	 (D) 	 T.Robert Malthus.

	 fdrkc ^tula[;k dk fl¼kUr* ds }kjk fy[kh x;h Fkh%

	 (A)	 tku dqd

	 (B)	 jkWcVZ gqd

	 (C)	 pkYlZ MkfoZu

	 (D) 	 Vh-jkWcVZ ekyFklA
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43.	 The first of the  major Environmental Protection Act to be promulgated in India was:

	 (A)	 Water Act

	 (B)	 Environmental Act

	 (C)	 Air Act

	 (D) 	 Noise Pollution Act.

	 i;kZoj.k laj{k.k vf/fu;eksa ds vUrxZr] vkSipkfjd :i ls Hkkjr dk loZizFke vf/fu;e Fkk%

	 (A)	 ty vf/fu;e

	 (B)	 i;kZoj.k vf/fu;e

	 (C)	 ok;q vf/fu;e

	 (D) 	 èofu iznw"k.k vf/fu;eA

44.	 Flammable gas in gobar gas plant is:

	 (A)	 Carbon dioxide

	 (B)	 Ammonia

	 (C)	 Carbon mono-oxide

	 (D) 	 Methane

	 xkscj xSl la;a=k esa Toyu'khy xSl gS%

	 (A)	 dkcZu MkbZvkWDlkbM

	 (B)	 veksfu;k

	 (C)	 dkcZu eksuks vkWDlkbM

	 (D) 	 ehFksuA

45.	 Maximum density of water is at:

	 (A)	 4°C

	 (B)	 0°C

	 (C)	 100°C

	 (D) 	 272°C.

	 ikuh dk vR;f/d ?kuRo gksrk gS%

	 (A)	 4°C ij

	 (B)	 0°C ij

	 (C)	 100°C ij

	 (D) 	 272°C ijA

46.	 High amount of E.coli in water is an indicator of:

	 (A)	 Hardness of water

	 (B)	 Chlorine in water

	 (C)	 Softness of water

	 (D) 	 Water pollution.
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	 ikuh esa bZ- dksykbZ dh vf/drk ek=kk lwpd gS%

	 (A)	 ikuh dh dBksjrk

	 (B)	 ikuh esa Dyksfju

	 (C)	 ikuh dh dkseyrk

	 (D) 	 iznwf"kr ikuhA

47.	 In the atmosphere, the layer above the troposphere is:

	 (A)	 Stratosphere

	 (B)	 Mesosphere

	 (C)	 Thermosphere

	 (D) 	 Exosphere.

	 okrkoj.k esa VªksiksLiQsvj ds Åij dh ijr gS%

	 (A)	 LVªVksLiQsvj

	 (B)	 ehtksLiQsvj

	 (C)	 FkeksZLiQsvj

	 (D) 	 ,sDlksLiQsvjA

48.	 Sunlight is the source of:

	 (A)	 Vitamin A

	 (B)	 Vitamin B

	 (C)	 Vitamin C

	 (D) 	 Vitamin D.

	 lw;Z dk izdk'k L=kksr gS%

	 (A)	 foVkfeu , dk

	 (B)	 foVkfeu ch dk

	 (C)	 foVkfeu lh dk

	 (D) 	 foVkfeu Mh dkA

49.	 Yellow Stone Park is related to:

	 (A)	 Earthquake

	 (B)	 Thunderstorm

	 (C)	 Nuclear disaster

	 (D) 	 Volcano.

	 ;syks LVksu ikdZ lEcfU/r gS%

	 (A)	 HkwdEi

	 (B)	 vk¡/h&rqiQku

	 (C)	 ukfHkdh; vkink

	 (D) 	 Tokykeq[khA
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50.	 The Forest (Conservation) Act extends to the whole of India except:

	 (A)	 Uttar Pradesh

	 (B)	 Karnataka

	 (C)	 Jammu Kashmir

	 (D) 	 Haryana.

	 ou (laj{k.k) vf/fu;e dk foLrkj lEiw.kZ Hkkjr o"kZ esa gS flok;%

	 (A)	 mRrj izns'k ds

	 (B)	 dukZVd ds

	 (C)	 tEew ,oa d'ehj ds

	 (D) 	 gfj;k.kk dsA

51.	 The most dangerous radioactive air pollutant is:

	 (A)	 Ca-40

	 (B)	 Thermal

	 (C)	 Sr-90

	 (D) 	 Soil.

	 lkoZf/d [krjukd jsfM;ks&,sfDVo ok;q iznw"k.k gS%

	 (A)	 Ca-40

	 (B)	 rkih;

	 (C)	 Sr-90

	 (D) 	 e`nkA

52.	 UV radiation causes:

	 (A)	 Liver cancer

	 (B)	 Lung cancer

	 (C)	 Mouth cancer

	 (D) 	 Skin cancer.

	 ijkcaSxuh fofdj.k dk dkjd gS%

	 (A)	 ;d`r dSalj

	 (B)	 iQsiQM+ks dk dSalj

	 (C)	 eqg dk dSalj

	 (D) 	 Ropk dk dSaljA

53.	 Light energy is converted into chemical energy by:

	 (A)	 Electrolysis

	 (B)	 Photosynthesis

	 (C)	 Respiration

	 (D) 	 Transpiration.
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	 izdk'k ÅtkZ dk jklk;fud ÅtkZ esa :ikUrj.k fuEuor~ gksrk gS%

	 (A)	 bysDVªksykbfll }kjk

	 (B)	 izdk'k la'ys"k.k }kjk

	 (C)	 'olu }kjk

	 (D) 	 mRLosnu }kjkA

54.	 The first national park of India is situated in:

	 (A)	 Assam

	 (B)	 madhay Pradesh

	 (C)	 Tamil Nadu

	 (D) 	 Uttarakhand.

	 Hkkjr dk izFke jk"Vªh; m|ku fLFkr gS%

	 (A)	 vle esa

	 (B)	 eè; izns'k esa

	 (C)	 rfeyukMq esa

	 (D) 	 mRrjk[k.M+ esaA

55.	 The Air (Prevention and Control of Pollution) Act was enacted in:

	 (A)	 1971

	 (B)	 1991

	 (C)	 1981

	 (D) 	 1982.

	 ok;q (fuokj.k ,oa iznw"k.k fu;U=k.k) vf/fu;e ykxw gqvk%

	 (A)	 1971 esa

	 (B)	 1991 esa

	 (C)	 1981 esa

	 (D) 	 1982 esaA

56.	 Ozone hole formation is maximum over:

	 (A)	 Arctic

	 (B)	 Europe

	 (C)	 Antarctica

	 (D) 	 Asia.

	 lokZf/d vkstu fNnz fuekZ.k gS%

	 (A)	 vkdZfVd esa

	 (B)	 ;wjksi esa

	 (C)	 vaVkdZfVdk esa

	 (D) 	 ,f'k;k esaA
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57.	 AIDS day is celebrated on:

	 (A)	 1st November

	 (B)	 1st December

	 (C)	 5th December

	 (D) 	 30th November.

	 ,M~l fnol euk;k tkrk gS%

	 (A)	 1 uoEcj

	 (B)	 1 fnlEcj

	 (C)	 5 fnlEcj

	 (D) 	 30 uoEcjA

58.	 One of the ex-situ conservation method for endangered species is 

	 (A)	 Wildlife Sanctuaries

	 (B)	 Biosphere Reserve

	 (C)	 National Parks

	 (D) 	 Cryopreservation.

	 ladVxzLr iztkfr;ksa ds laj{k.k gsrq cfg%LFky laj{k.k dh ,d fof/ gS%

	 (A)	 oU;tho vH;kj.;

	 (B)	 thoue.My fjtoZ

	 (C)	 jk"Vªh; m|ku

	 (D) 	 rq"kkjh laj{k.kA

59.	 Environmental Protection Act in India was enacted in:

	 (A)	 1974

	 (B)	 1976

	 (C)	 1980

	 (D) 	 1986.

	 Hkkjr esa i;kZoj.k laj{k.k vf/fu;e ykxw gqvk%

	 (A)	 1974 esa

	 (B)	 1976 esa

	 (C)	 1980 esa

	 (D) 	 1986 esaA

60.	 CBD is:

	 (A)	 Convention of Biodiversity

	 (B)	 Convention of Biological Diversity

	 (C)	 Council of Biodiversity

	 (D) 	 Conservation of Biological Diversity.
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	 lh-ch-Mh-gS%

	 (A)	 tSo fofo/rk le>kSrk

	 (B)	 tSfod fofo/rk le>kSrk

	 (C)	 tSo fofo/rk ifj"kn

	 (D) 	 tSo fofo/rk laj{k.kA

61.	 Smog is combination of:

	 (A)	 Smoke and fog

	 (B)	 Air and water

	 (C)	 Water and smoke

	 (D) 	 None of the above.

	 /wedqgk (LekWx) feJ.k gS%

	 (A)	 /qvk¡ vkSj dksgjk

	 (B)	 ok;q vkSj ikuh

	 (C)	 ikuh vkSj /qvk¡

	 (D) 	 mijksDr esa ls dksbZ ughaA

62.	 Government sponsored 'Family Planning Programme' was started in:

	 (A)	 1947

	 (B)	 1952

	 (C)	 1955

	 (D) 	 1975.

	 Hkkjr ljdkj }kjk izk;ksftr ^ifjokj fu;kstu dk;ZØe* izkjEHk gqvk Fkk%

	 (A)	 1947 esa

	 (B)	 1952 esa

	 (C)	 1955 esa

	 (D) 	 1975 esaA

63.	 Biological Oxygen Demand (BOD) measures:

	 (A)	 Air pollution

	 (B)	 Dissolved oxygen needed by microbes

	 (C)	 Industrial pollution

	 (D) 	 Soil pollution.

	 tSfod vkDlhtu vko';d (ch-vks-Mh-) Kkr djkrh gS%

	 (A)	 ok;q iznw"k.k

	 (B)	 ?kqyh vkDlhtu lw{e thoksa gsrq

	 (C)	 vkS|ksfxd iznw"k.k

	 (D) 	 e`nk iznw"k.kA
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64.	 Soil salinity can be measured by:

	 (A)	 Potometer

	 (B)	 Porometer

	 (C)	 Calorimeter

	 (D) 	 Conductivity meter.

	 e`nk {kkfjrk dh eki dh tk ldrh gS%

	 (A)	 iksVksehVj ls

	 (B)	 iksjkssehVj ls

	 (C)	 dSyksjhehVj ls

	 (D) 	 daMfDVohVh ehVj lsA

65.	 Coolant which is commonly used in freezing out samples at-183° C is:

	 (A)	 Liquid oxygen

	 (B)	 Liquid nitrogen

	 (C)	 Liquid oil

	 (D) 	 Liquid water.

	 lSEiyksa dks&183° lsUVhxzsM rd tekus esa dkSu lk 'khryd iz;qDr gksrk gS\

	 (A)	 tyh; vkWDlhtu

	 (B)	 nzO; u=ktu

	 (C)	 nzO; rsy

	 (D) 	 nzO; tyA

66.	 White revolution is related to:

	 (A)	 House

	 (B)	 Fish production

	 (C)	 Cotton production

	 (D) 	 Milk production.

	 'osr ØkfUr lEcfU/r gS%

	 (A)	 ?kjksa ls

	 (B)	 eRL; mRiknu ls

	 (C)	 dikl mRiknu ls

	 (D) 	 nqX/ mRiknu lsA

67.	 The atmospheric UV radiation are absorbed in the zone called:

	 (A)	 Troposphere

	 (B)	 Stratosphere

	 (C)	 Mesosphere

	 (D) 	 Thermosphere.
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	 okrkoj.kh; ijkcSxuh fofdj.k dj vo'kks"k.k Hkkx dgykrk gS%

	 (A)	 VªksiksLiQs;j

	 (B)	 LVªVksLiQs;j

	 (C)	 ehtksLiQs;j

	 (D) 	 FkeksZLiQs;jA

68.	 The function of haemoglobin in body is:

	 (A)	 Transport of Oxygen

	 (B)	 Destruction of Bacteria

	 (C)	 Prevention of Anaemia

	 (D) 	 Utilization of Iron.

	 'kjhj esa gheksXykschu dk dk;Z gS%

	 (A)	 vkWDlhtu dk ifjogu

	 (B)	 thok.kq dks u"V djuk

	 (C)	 jDrkYirk dks jksduk

	 (D) 	 ykSg dk mi;ksxA

69.	 Chernobyl disaster occurred due to:

	 (A)	 Nuclear reactor explosion

	 (B)	 Poisonous gas leakage

	 (C)	 Forest fire

	 (D) 	 Earthquake.

	 pjuksfcy nq?kZVuk dk dkj.k Fkk%

	 (A)	 ijek.kq la;a=k foLiQksV

	 (B)	 tgjhyh xSl dk fjlko

	 (C)	 taxy dh vkx

	 (D) 	 HkwdEiA

70.	 Between 1950 and 1990, the world's energy needs increased by:

	 (A)	 Two folds

	 (B)	 Three folds

	 (C)	 Four folds

	 (D) 	 Five folds.

	 o"kZ 1950 ls 1990 ds chp] fo'o ÅtkZ vko';drk c<+h%

	 (A)	 nks xquh

	 (B)	 rhu xquh

	 (C)	 pkj xquh

	 (D) 	 ik¡p xquh
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71.	 The Biological Diversity Act was enacted in the year:

	 (A)	 1995

	 (B)	 2000

	 (C)	 2002

	 (D) 	 2004.

	 tSofofo/rk vf/fu;e o"kZ esa cuk Fkk%

	 (A)	 1995 eas

	 (B)	 2000 esa

	 (C)	 2002 esa

	 (D) 	 2004 esaA

72.	 The silver and gold mines are found in:

	 (A)	 Karnataka

	 (B)	 Goa

	 (C)	 Uttarakhand

	 (D) 	 Madhya Pradesh.

	 pk¡nh ,oa lksus dh [kksusa ik;h tkrh gSa%

	 (A)	 dukZVd esa 

	 (B)	 xksvk esa

	 (C)	 mRrjk[k.M esa 

	 (D) 	 eè; izns'k esaA

73.	 Chernobyl tragedy took place where and when:

	 (A)	 Ukrain, 1990

	 (B)	 Ukrain, 1988

	 (C)	 Ukrain, 1986

	 (D) 	 Ukrain, 1983.

	 psjuksfcy =kklnh gqbZ Fkh dgk¡ vkSj dc%

	 (A)	 ;wØsu] 1990 esa

	 (B)	 ;wØsu] 1988 esa

	 (C)	 ;wØsu] 1986 esa

	 (D) 	 ;wØsu] 1983 esaA

74.	 Silent valley is located at:

	 (A)	 Kerala

	 (B)	 Maharastra

	 (C)	 Andhra Pradesh

	 (D) 	 Tamil Nadu.
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	 lkbysaV oSyh fLFkr gS%

	 (A)	 dsjy esa

	 (B)	 egkjk"Vª esa

	 (C)	 vkU/z izns'k esa

	 (D) 	 rfeyukMq esaA

75.	 Renewable resources are:

	 (A)	 Water, soil and forest

	 (B)	 Natural gas, water and forest

	 (C)	 Minerals, soil and water

	 (D) 	 Forest, coal and minerals.

	 uohuhdj.k lalk/u gSa%

	 (A)	 ty] e`nk vkSj ou

	 (B)	 izkd`frd xSl] ty vkSj ou

	 (C)	 [kfut] e`nk vkSj ty

	 (D) 	 ou] dks;yk vkSj [kfutA

76.	 Frequency of sound measured in:

	 (A)	 Meters

	 (B)	 Hertz

	 (C)	 Km

	 (D) 	 Moles.

	 èofu vkòfr ekih tkrh gS%

	 (A)	 ehVj esa

	 (B)	 gV~tZ esa

	 (C)	 fdyksehVj esa

	 (D) 	 eksy esaA

77.	 Example of a Secondary Air pollutant is:

	 (A)	 SOx

	 (B)	 Radioactive substances

	 (C)	 Hydrocarbons

	 (D) 	 O3

	 f}rh;d ok;q iznw"kd dk ,d mnkgj.k gS%

	 (A)	  lYiQj ds vkWDlkbM

	 (B)	 jsfM;ks,fDVo inkFkZ

	 (C)	 gkbMªksdkcZu

	 (D) 	 vkstksuA
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78.	 Which one is not a natural resource?

	 (A)	 Plastic

	 (B)	 Water

	 (C)	 Soil

	 (D) 	 Solar energy.

	 fuEufyf[kr es ls dkSulk ,d izkd`frd lalk/u ugha gS\

	 (A)	 IykfLVd

	 (B)	 ty

	 (C)	 e`nk

	 (D) 	 izdk'k ÅtkZA

79.	 Kanha national park is in:

	 (A)	 Madhya Predesh

	 (B)	 Rajasthan

	 (C)	 Andhra Predesh

	 (D) 	 Assam.

	 dkUgk jk"Vªh; m|ku gS%

	 (A)	 eè; izns'k

	 (B)	 jktLFkku

	 (C)	 vkU/z izns'k

	 (D) 	 vleA

80.	 Chipko movement is connected with:

	 (A)	 Flood

	 (B)	 National disaster

	 (C)	 Tribal's

	 (D) 	 Deforestation.

	 fpidks vkUnksyu lEcfU/r gS%

	 (A)	 ck< ls

	 (B)	 jk"Vªh; vkink ls

	 (C)	 tutkfr ls

	 (D) 	 o`{k dVku lsA

81.	 Which of the following is a source of methane?

	 (A)	 Wetlands

	 (B)	 Thermal Power Plants

	 (C)	 Foam industry

	 (D)	 Cement industry.



26S-116/FES-(A)-10

	 fuEuftf[kr esa ls dkSu lk ehFksu dk L=kksr gS\

	 (A)	 vknzZ LFky

	 (B)	 rkih; fo|qr la;a=k

	 (C)	 iQkse m|ksx

	 (D) 	 lhesaV m|ksxA

82.	 Expanding population trend is predicted for the coming years when age-pyramid is:

	 (A)	 Bell shaped

	 (B)	 Pyramid shaped

	 (C)	 Urn shaped

	 (D)	 None of these.

	 tula[;k foLrkj :>ku vkus okys o"kks± ds iqokZuqeku dks iznf'kZr djrk gS] tc vk;q fijkfeM+ gS%

	 (A)	 ?kaVh ds vkdkj dk

	 (B)	 fijkfeM ds vkdkj dk

	 (C)	 dy'k ds vkdkj dk

	 (D) 	 buesa ls dksbZ ughaA

83.	 Soil erosion can be prevented by:

	 (A)	 Grazing

	 (B)	 Deep ploughing

	 (C)	 Heavy rain

	 (D)	 Planting trees.

	 e`nk vijnu dks jksdk tk ldrk gS%

	 (A)	 pjkbZ ls

	 (B)	 xgjh tqrkbZ ls

	 (C)	 Hkkjh o"kkZ ls

	 (D) 	 isM+ yxus lsA

84.	 The 'Hot spots' are areas of:

	 (A)	 Hot springs

	 (B)	 High biodiversity area under threat

	 (C)	 Warm places

	 (D)	 Grasslands.

	 ^rIr LFky* {ks=k gS%

	 (A)	 xje >jus

	 (B)	 vf/d tSofofo/rk okys LFkku tks foyqIrrk dh vksj vxzlj gSa

	 (C)	 xje LFkku

	 (D) 	 ?kkl ds eSnkuA
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85.	 State bird of Uttarakhand is:

	 (A)	 Sparrow

	 (B)	 Peacock

	 (C)	 Blue kite

	 (D)	 Monal.

	 mRrjk[k.M dk jkT; i{kh gS%

	 (A)	 xkSjS;k

	 (B)	 eksj

	 (C)	 Cyw dkbV

	 (D) 	 eksukyA

 86.	 A species of immediate threat of extinction is called:

	 (A)	 Rare

	 (B)	 Endangered

	 (C)	 Endemic

	 (D)	 All of the above.

	 ,d iztkfr tks yxHkx foyqfIr ds dxkj ij gks] dgykrh gS%

	 (A)	 nqyZHk

	 (B)	 ladVxzLr

	 (C)	 LFkkfud

	 (D) 	 mi;qZDr lHkhA

87.	 Correct answer of food chain is:

	 (A)	 Insect—›Grass—›Bird—›Frog

	 (B)	 Grass—›Insect›—›Frog—›Bird

	 (C)	 Frog—›Bird—›Grass—›Insect

	 (D)	 Bird—›Frog—›Insect—›Grass.

	 [kk| J`a[kyk dk lgh :i gS%

	 (A)	 dhV—›?kkl—›i{kh—›esa<+d

	 (B)	 ?kkl—›dhV—› esa<+d—›i{kh

	 (C)	 esa<+d—›i{kh—›?kkl—›dhV

	 (D) 	 i{kh—›esa<+d—›dhV—›?kkl

88.	 Methyl isocynate gas tragedy occurred where and when?

	 (A)	 Russia, 1994

	 (B)	 Bhopal, 1982

	 (C)	 Ukrain, 1986

	 (D)	 Bhopal, 1984.
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	 feFkkby vkblkslkbusV xSl =kklnh dgk¡ vkSj dc gqbZ\

	 (A)	 :l] 1994

	 (B)	 Hkksiky] 1982

	 (C)	 ;wØsu] 1986

	 (D) 	 Hkksiky] 1984A

89.	 Maximum pollution in river Ganga is at:

	 (A)	 Varanasi

	 (B)	 Haridwer

	 (C)	 Kanpur

	 (D)	 Agra.

	 xaxk unh esa lkoZf/d iznw"k.k gS%

	 (A)	 cukjl esa

	 (B)	 gfj}kj esa

	 (C)	 dkuiqj esa

	 (D) 	 vkxjk esaA

90.	 Which of the following have more penetration power?

	 (A)	 Alpha particles

	 (B)	 Beta particles

	 (C)	 Gamma rays

	 (D)	 None of these.

	 fuUu esa ls fdldh Hksnu {kerk T;knk gS\

	 (A)	 vYiQk d.kksa dh

	 (B)	 chVk d.kksa dh

	 (C)	 xek d.kksa dh

	 (D) 	 buesa ls dksbZ ughaA

91.	 Death while sleeping in closed room with burning coal furnace is due to:

	 (A)	 Carbon mono-oxide

	 (B)	 Sulphur dioxide

	 (C)	 Carbon tetrachloride

	 (D)	 Methane.

	 cUn dejs esa dks;ys dh tyrh vaxhBh j[kdj lksus ls e`R;q dk dkj.k gS%

	 (A)	 dkcZu eksuksvkWDlkbM

	 (B)	 lYiQj MkbvkWDlkbM

	 (C)	 dkcZu VsVªkDyksjkbM

	 (D) 	 ehFksuA
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92.	 By which process is carbon dioxide removed from the atmosphere?

	 (A)	 Combustion

	 (B)	 Decomposition

	 (C)	 Respiration

	 (D)	 Photosynthesis.

	 fdl fof/ }kjk ok;qe.My ls dkcZu MkbvkWDlkbM ?kVrh gS\

	 (A)	 Toyu

	 (B)	 fo?kVu

	 (C)	 'olu

	 (D) 	 izdk'k la'ys"k.kA

93.	 Which of the following food chain directly depend on solar radiation?

	 (A)	 Parasitic food chain

	 (B)	 Detritus food chain

	 (C)	 Grazing food chain

	 (D)	 None of the above.

	 fuEufyf[kr esa ls dkSu lh [kk| J`a[kyk lh/s vkSj fofdj.kksa ij fuHkZj gksrh gS\

	 (A)	 ijthoh [kk| J`a[kyk

	 (B)	 e`rHk{kh [kk| J`a[kyk

	 (C)	 pkj.k [kk| J`a[kyk

	 (D) 	 mi;qZDr esa ls dksbZ ughaA

94.	 Where maximum earthquakes occur?

	 (A)	 Saudi Arabia

	 (B)	 Japan

	 (C)	 Iraq

	 (D)	 Iran.

	 lkoZf/d HkwdEi dgk¡ vkrs gSa\

	 (A)	 lmnh vjc esa 

	 (B)	 tkiku esa 

	 (C)	 bjkd esa

	 (D) 	 bZjku esa

95.	 Fluoride pollution mainly affects:

	 (A)	 Heart

	 (B)	 Kidneys

	 C)	 Teeth

	 (D)	 Brain.
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	 ÝyksjkbM iznw"k.k eq[;r;k% izHkkfor djrk gS%

	 (A)	 ân; dks

	 (B)	 fdMuh dks

	 (C)	 nkarksa dks

	 (D) 	 efLr"d dksA

96.	 Which water conflict is between the states of Karnataka and Tamil Nadu?

	 (A)	 Cauvery conflict

	 (B)	 Godavari conflict

	 (C)	 Krishna conflict

	 (D)	 Satlaj conflict.

	 dukZVd rFkk rfeyukMq jkT;ksa ds chp dkSulk ty fookn gS%

	 (A)	 dkosjh fookn

	 (B)	 xksnkojh fookn

	 (C)	 d`".kk fookn

	 (D) 	 lryt fooknA

97.	 Radioactive element which has been found to have large reserves in India is:

	 (A)	 Plutonium

	 (B)	 Radium

	 (C)	 Thorium

	 (D)	 Uranium.

	 ,d jsfM;ks /ehZ rRo ftlds Hkkjr o"kZ esa cM+s Hk.Mkj ik;s tkrs gSa%

	 (A)	 Iywksfu;e

	 (B)	 jsfM;e

	 (C)	 Fkksfj;e

	 (D) 	 ;wjsfu;eA

98.	 Logo of WWF-N is:

	 (A)	 Red Panda

	 (B)	 Polar Bear

	 (C)	 Giant Panda

	 (D)	 Tiger.

	 MCyw-MCyw-,iQ-&,u dk yksxks gS%

	 (A)	 yky ikUMk

	 (B)	 /zqoh; Hkkyw

	 (C)	 cM+k ikUMk

	 (D) 	 ck?kA
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99.	 Phytoplanktons are:

	 (A)	 Herbs

	 (B)	 Trees

	 (C)	 Shrubs

	 (D)	 Microscopic floating plants.

	 Iyod gSa%

	 (A)	 'kkd

	 (B)	 o`{k

	 (C)	 >kfM+;k¡

	 (D) 	 lw{e rSjus okys ikS/sA

100.	 Human malaria is transmitted by:

	 (A)	 Anopheles male

	 (B)	 Anopheles female

	 (C)	 Culex male

	 (D)	 Culex female.

	 ekuo eysfj;k iQSyrk gS%

	 (A)	 uj ,sukfiQfyt ls

	 (B)	 eknk ,sukfiQfyt ls

	 (C)	 uj D;wySDl ls

	 (D) 	 eknk D;wySDl lsA

*****
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Importance Instructions/ egRoiw.kZ funsZ'k

3.	 For marking answers on OMR sheet, follow the detailed instructions given on the  
	 OMR Sheet.

	 vks- ,e- vkj- izi=k ij vius lgh mÙkj dks fpfUgr djus ds fy, izi=k ij vafdr funsZ'kksa dk ikyu dhft,A

4.	 Use only Blue or Black ball point pen for marking on OMR.

	 OMR ij fpUg yxkus ds fy, dsoy uhyh ;k dkyh ckWy IokWbUV iSu dk gh bLrseky dhft,A


